BAL/5/4

ERRATA to Rebuttal Evidence of James Brass on Socio-Economics
1. At Paragraph 3.3.2 of my Rebuttal Proof of Evidence (BAL/5/3), | state:

"The correct employment density, as discussed above, is 476 million passengers per
annum."

This text should read:

"The correct employment density, as discussed above, is 476 jobs per million
passengers per annum."

This amendment does not affect the discussion in my evidence, or the conclusions reached.
James Brass

York Aviation on behalf of Bristol Airport Limited
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